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+2fzf;Fg;gjptpay; miuahz;Lj;Njh;T br- 24 
rhpahd tpil                   20X1=20 
1. (,) Kjy;       
2. (M) ,WjpKjy; fz;lwpa      
3. (<) Kjypd tuT     
4. (<) me;ehisa nuhf;fk; kw;Wk; tq;fpapUg;G   
5. (<) & 500  
6. (,) $l;lhspapd; Cjpak;                 
7. (,) ruhrhp ,yhgk; kw;Wk; rhjhuz ,yhgk;       
8. (,) Mz;Lj;njhif Kiwapy; ew;ngah; = 
ruhrhp ,yhgk; x nfh M v                 
9. (m)  gioa $l;lhspfs;      
10. (,) Gjpa $l;lhsp nfhz;L te;j ew;ngah;      
11. (m) midj;J $l;lhspapd; Kjy; fzf;F        
12. (M) & 3000 
13. (,) I kw;Wk; ii rhpahdJ       
14. (M) gq;Ffs; Fiwnahg;gkhf….        
15. (M) xU Fwpg;gpl;l ehSf;Fhpa   
16. (,)  25    
17. (M) tpfpjk;      
18. (,) epiyr; nrhj;Jf;fs; Row;rp tpfpjk;-rjtPjk;  
19. (<)  ctrl + Q         
20. (m) epWtdg; gz;G $Wfs;    
VNjDk; 7 tpdhf;fSf;F tpilasp   7X2=14 
21.       ,yhg el;l mwpf;if 
,Wjp Kjy 180000 
$l;Lf:- vLg;Gfs; 50000 
 230000 
fopf;f:- $Ljy; Kjy; 40000 
rhpf;fl;lg;gl;l ,.Kjy; 190000 
fopf;f:- njhlf;f Kjy; 220000 
el;lk; 30000 
22.     J}j;Jf;Fb tUtha; nrytpdf; fzf;F 

nr njh njh tUkhdk; njhif njhif 
   re;jh 2250  
   (+)17ng.Nt.re;j 250 2500 

,Ug;Gepiyf;Fwpg;G 
nghWg;G  njh tUkhdk; njh njhif 
K.$.ng.   re;jh   
re;jh  100 (+)ng.Nt.re;j  250 

23. ruhrhp yhgk; =  nkhj;j yhgk;                     
     Mz;Lfspd; vz;zpf;if 
    =  (5000+8000+6000_ - 3000   = 16000 = 4000 

                4     4 
ew;ngah; =ruhrhp yhgk; Xnfh.M.v  = 4000  X 3 = 12000 

24.        Fwpg;Ngl;Lg; gjpTfs;  
ehs; tptuk; gw;W tuT 
 mQ;ryp Kjy; f/F    g 25000  
 epj;ah Kjy; f/F     g 15000  
    yhg el;l f/F  40000 
 
 
 
 
 
 

25. Gjpa tpfpjk; 
jpahf gq;F   = gioa gq;F 𝐗 jpahfg; gq;fpd; tpfpjk; 
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Gjpa yhg tpfpjk;  =3:4:7 
26. tpiuT tpfpjk;= ePh;ikr;nrhj;J = 360000=1. 5:1
   elg;G nghWg;G  240000 
ePhik nrhj;J=  elg;G nrhjJ; - ruf;fp + 
Kd;$.nrYj;.nryT 
=450000 – (70000+20000) = 90000 

27. $l;lhz;ik xg;ghtzk;: 
$l;lhspfspilNaahd vOj;J tbtpyhd 
cld;gbf;ifNa $l;lhz;ik xg;ghtzk; 
MFk;.  ,it fl;lhak; ,y;iy.  xg;ghtzk; 
Mjhukhf ,Ug;gjhy; xg;ghtzk; 
tpUk;gj;jf;fjhFk;. 
28. gq;F: xU epWkj;jpd; Kjy;> Fwpg;gpl;l 
gzkjpg;gpyhd gy myFfshf gphpf;fg;gl;L 
xt;nthU myFk; gq;Ffs; vd 
miof;fg;gLfpd;wd. 
29. epjpepiy mwpf;if gFg;gha;tpd; 
fUtpfisg; gl;bayplTk;. xg;gPl;L mwpf;if> 
nghJ msT mwpf;if> Nghf;Fg; gFg;gha;T> 
epjp Xl;lg; gFg;gha;T> nuhf;f Xl;lg; 
gFg;gha;T 
30. VNjDk; Ie;J fzf;fpay; mwpf;iffs; 
ehNsL> Fwpg;NgL> NgNuL> ,Ug;gha;T> ,yhg 
mwpf;if> ,Ug;G epiyf;Fwpg;G> nuhf;f Xl;l 
mwpf;if. 
VNjDk; 7 tpdhf;fSf;F tpilasp   7X3=21 
31.      nkhj;j fldhspfs; fzf;F 
tptuk; njhif tptuk; njhif 
,Ug;GfP/nfh 100000 nuhf;f f/F 230000 
tpw;gid f/F 280000 m.js;Sgbf/F 5000 
  tp.jpUg;gf/F 25000 
  ,Ug;GfP/, 120000 
 380000  380000 
32.    nrd;id nld;dp]; kd;w ,Ug;Gepiyf; Fwpg;G 

nghWg;Gfs; njh njh nrh n n 
tpisahl;L Nghl;b epjp 24000     
$l;:- tp.Ngh.epjp tuTfs; 26000     
 50000     
fop:- tpis.ngh.nryT 33000     
  17000    
33.  vLg;G kPjhd tl;bj; njhifiaf; fzf;fplTk;. 
khh;r; 1y; vLg;G   = 4000 x 6/100 x10/12     =  200 
[Pd; 1y; vLg;G   = 4000 x 6/100 x7/12       =  140 
nrg;lk;gh; 1y; vLg;G  = 4000 x 6/100 x4/12       =    80 
brk;gh;; 1y; vLg;G  = 4000 x 6/100 x1/12       =     20    

    vLg;G kPJ tl;b         440 
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34. nkhj;j %yjd kjpg;G = ruhrhp yhgk;     X 100  
              rhjhuz yhg tpfpjk;  
    =  60000     X 100    = 600000 

      3            
ew;ngah;  =nkhj;j %yjdkjpg;G – gad;gLj;jg;gl;l Kjy;  
          =   600000 - 450000  = 150000 
35.          Fwpg;Ngl;Lg; gjpT 
rhk; Kjy; f/F          g 18000  
N[h]; Kjy; f/F        g 12000  
  ew;ngah; f/F  30000 
rhk; Kjy; f/F          g 12000  
N[h]; Kjy; f/F        g 8000  
  ew;ngah; f/F  20000 

36. ejpah epWkj;jpd; Fwpg;Ngl;Lg; gjpTfs; 
tptuk; gw;W tuT 

Neh;ikg; gq;F Kjy; f/F       g            800  

  gq;F Kjy; miog;G f/F  200 

  gq;F xWg;gpog;G f/F  600 

tq;fp f/F                   g 525  

gq;F xWg;gpog;G f/F          g 75  

   Neh;ikg; gq;F Kjy; f/F  600 

gq;F xWg;gpog;G f/F          g 375  

   Kjypdf; fhg;G f/F  375 

37. f%nr.R.tpfpjk;; = ep.fl.nfh =     950000=10 klq;F 
    f.%.nr.Nt.ruhrhp  95000 

f.%.nr.Nt.ruhrhp f.%.nr.Nt njh.r+ f.%.nr.Nt ,W.ru  
        2 
= (60000+45000) + (50000+35000)   =  190000      = 95000 
         2             2 
fld; nr.Nt.fh= xU.M.ehl;fspy;   = 365   = 36.5  ehl;fs; 
(ehl;fspy;)   f.nrNr.Row;rp tpfpjk; 10  
38. $l;lhz;ik xg;ghtzk; ,y;yhj NghJ> 
,e;jpa $l;lhz;ikr; rl;lk; 1932d;gb 
filgpbf;ff; $ba tpjpKiwfs; 
$l;lhspfSf;F ciog;G Cjpak; toq;fg;gl 
Ntz;baJ ,y;iy. ,yhg el;lq;fs; rkkhf 
gfph;e;J nfhs;s Ntz;Lk;. Kjy; kPjhd tl;b 
toq;fg;gl Ntz;baJ ,y;iy. vLg;G kPjhd 
tl;b tpjpf;ff;$lhJ. fld; kPjhd tl;bf;F 
Mz;Lf;F 6% mDkjpf;f Ntz;Lk;. 

39. 
mbg;gil 

jpahf tpfpjk; Mjha tpfpjk; 

nghUs; Gjpa 
$l;lhspf;F 
gioa 
$l;lhspfs; 
jpahfk; nra;Ak; 
,yhg gq;F 

njhlUk; $l;lhspfs; 
tpyFk; 
$l;lhspfsplkpUe;J 
ngWk; Mjha gq;F 

Nehf;fk; jpahfk; nra;Ak; 
$l;lhspf;F 
ew;ngah; 
njhifia 
rhpnra;a 

Mjhak; ngWk; 
$l;lhspf;F ew;ngah; 
njhifia rhp nra;a 

fzf;fpLk; 
fhyk; 

$l;lhsp 
Nrh;g;gpd; NghJ 

$l;lhsp tpyFk; NghJ 

Kiw jpahf tpfpjk; 
= gioa 
tpfpjk; - Gjpa 
tpfpjk; 

Mjha tpfpjk; = 
Gjpa tpfpjk; - gioa 
tpfpjk; 

 
 

40.  ,/e f/F ghh;tapl  
F10: A/c Reports > Profit & Loss A/c > AltF1 (detailed) 

                                         (or) 

Gateway of Tally > Reports > Profit & Loss A/c > AltF1 (detailed) 

,Ug;Gepiyf; Fwpg;G ghh;itapl 
F10: A/c Reports > Profit & Loss A/c > AltF1 (detailed) 

                                         (or) 

Gateway of Tally > Reports > Profit & Loss A/c > AltF1 (detailed) 

ehNsl;il ghh;itapl 
F10: A/c Reports > Day Book > AltF1 (detailed) 

                                         (or) 

Gateway of Tally > Reports > Display> Day Book > AltF1 

(detailed) 

 

midj;J Nfs;tpfSf;Fk; tpilasp: 7X3=21 
41.m. (njhlf;f Kjy; fzf;fpLjy;) 
nghWg;Gfs; njhif nrhj;Jf;fs; njhif 
fldPe;Njhh; 9>000 nuhf;fk; 43>000 
fld; 25>000 ruf;fpUg;G 1>20>000 
Kjy; 4>00>000 fldhspfs; 84>000 
  tzpf tshfk; 2>50>000 
  miwfyd; 33>000 
 5>30>000  5>30>000 

(,Wjp Kjy; fzf;fpLjy;) 
nghWg;Gfs; njhif nrhj;Jf;fs; njhif 
fldPe;Njhh; 1>02>000 nuhf;fk; 29>000 
fld; 20>000 ruf;fpUg;G 1>30>000 
Kjy; 4>42>000 fldhspfs; 1>10>000 
  tzpf tshfk; 2>50>000 
  miwfyd; 45>000 
 5>64>000  5>64>000 

,yhg el;l mwpf;if 
,Wjp Kjy; (31.03.2017) 4>42>000 
$l;Lf:- vLg;Gfs; 30>000 
 4>72>000 
fopf;f:- $Ljy; Kjy; 45>000 
rhpf;fl;lg;gl;l ,.Kjy; 4>27>000 
fopf;f:- njhlf;f Kjy; 4>00>000 
,yhgk; 27>000 
41.M. Cl;b kdkfpo; tUtha; nrytpdf; fzf;F 

nryTfs; njhif tUkhdk; njhif 
tp.nghUs;.thq;fp 10000 thlif ngw;wJ 10000 
vOJnghUs; th 7000 re;jh ngw;wJ 54000 
rk;gsk; 20000   
cghp 27000   
 64000  64000 
42.m.         epiy mwpf;if 
tptuk; njhif tptuk; njhif 
fldPe;Njhh; 50000 ep.k.fl;blk; 240000 
njhlf;f Kjy; 380000 ruf;fpUg;G 

fldhspfs; 
t.nuhf;fk; 

120000 
40000 
30000 

 430000  430000 
nkhj;j fldPe;Njhh; fzf;F 

tptuk; njhif tptuk; njhif 
nuhf;f f/F 600000 ,Ug;GfP/nfh  50000 
nfh.jpUg;gf/F 
,Ug;GfP/, 

30000 
45000 

nfhs;Kjy;f/F 625000 

 675000  675000 
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tpahghu ,yhgel;l fzf;F 
tptuk; njhif tptuk; njhif 

njh.ruf;fpUg;G 
nfhs; 6250000 

120000 tpw;g  770000 
(-)jpU  25000 

 
745000 

jpUg;g 30000 
$yp 

595000 
65000 

,.ruf;fpUg;G 170000 

nkh.,yhgk; 135000   
 915000  915000 
nt.$yp 7500 nkh.,yhgk; 135000 
g.nryTfs; 
Nja;khdk; 

28000 
12000 

  

Iaf;fld; 1500   
epfu yhgk; 86000   
 135000  135000 
2018> brk;gh; 31Mk; ehisa ,Ug;Gepiyf; Fwpg;G 
nghWg;Gfs; & nrhj;Jf;fs; & 

fldPe;Njhh; 45000 ,.ruf;F 170000 
Kjy;   380000  t.nuhf;fk; 53000 
(+)ep.yh  86000  fldhspfs;51500 

(-) xJf;F  1500 
 

50000 
       466000 
(-) vLg;  10000 

 
456000 

ep.k. fl;b 240000 
(-) Nj    12000 

 
228000 

 501000  501000 
42.M.NfhaKj;J}h;fphpf;nfl;; ngWjy; nrYj;jy; fzf;F 

ngWjy;fs;  njh nrYj;jy;fs; njh 
,Ug;G fP/nfh   ,Ug;G fP/nfh  
if nuhf;fk;  1000 t.Nk.gw;W 6000 
re;jh ngw;wJ   $yp 2000 
Ke;ija Mz;L 500  fld; kP.tl;b 2000 
elg;ghz;L 9600  kjpg;g+jpak; 2800 
vjpuhz;L 400 10500 kpd;rhu fl;l 700 
tp.Ngh.ep.tuT  5200 tp.Ngh.nryT 2600 
capy; nfhil  2000 tp.ngh.thq;fp 1900 
muq;f e.nfhil  2000 ,Ug;G fP/,  
   nuhf;fk; 300 
   tq;fp 2400 
  20700  20700 
43.m. &gd; nlhp vd;Dk;$l;lhspfspd; epiyKjy; f/F 
ehs; tptuk; &gd; nlhp ehs; tptuk; &gd; nlhp 
kh 
31 

,fP/, 88000 66000 1.4.18 ,fP/nf 70000 50000 

     tq;fp 18000 16000 
  88000 66000   88000 66000 
    1.4.19 ,fP/nfh 88000 66000 

43.M.        kWkjpg;gPl;L fF 
tptuk; njhif tptuk; njhif 
ruf;fpUg;G 2000 KjyPLfs; 11000 
kWkjpg;gPL ,yh 9000   
 11000  11000 

Kjy; f/F 
t tPzh gpah;y; nlhp tptu tPzh gpah;[; nlhp 

t 5000 1000  ,nf 60000 40000  

    tq;fp   30000 

    ngh 20000 10000  

    njh 6000 3000  

    kWk 6000 3000  

    tq;fp 5000 1000  

, 92000 56000 30000     

 97000 57000 30000  97000 57000 30000 

    ,nfh 92000 56000 30000 

 
 
 

,Ug;Gepiyf;Fwpg;G 
nghWg;G njh njhif nrhj;Jf; njh njhif 

Kjy;    fl;llk;  60000 

tPzh 92000  ,ae;jpuk;  30000 

gpah;y; 56000  KjyPLfs;  11000 

nlhp 30000 17800 fldhspfs;  20000 

fldPe;Nj  10000 ruf;fpUg;G 10000  

njh.<.epjp  1000 f:- 
Nja;khd 

2000 8000 

   t.nuhf;fk;  6000 

  189000   189000 

44.m. ruhrhp yhgk; =  nkhj;j yhgk;                     
    Mz;Lfspd; vz;zpf;if 
    =  13000+15000+17000   = 45000      = 15000 
            3       3 
rhjhuz,yhgk;; =gad;gLj;jg;gl;lKjy;Xrhjhuzyhg tpfpjk; 
                       = 5000  X    10   = 5000 

                                         100 
cah; ,yhgk;; = ruhrhp,yhgk; - rhjhuz yhgk; 
                           = 15000 - 5000 = 10000 
ew;ngah; = cah; yhgk; X Mz;L njhif fhuzpapd; 
jw;Nghija kjpg;G   = 10000 X 2.4868  = 24868 
44.M.       kWkjpg;gPl;L fF 
tptuk; njhif tptuk; njhif 
ruf;fpUg;G 2000 epyk; 11000 
fldhsp f/F 3000   
kWkjpg;gPL ,yh 6000   
 11000  11000 

Kjy; f/F 
tptuk; Re;jh; tpNt ghz;b tptuk; Re;jh; tpNt ghz;b 
yhgel; 3000 2000 1000 ,nfh 50000 40000 10000 
ghz;b 
epiw 

  16000 kWkjpg; 3000 2000 1000 

    nghJfh 18000 12000 6000 
,UfP, 68000 52000 ---     
 71000 54000 17000  71000 54000 17000 
    ,nfh 68000 52000 ---- 

,Ug;Gepiyf;Fwpg;G 
nghWg;G njhi njhif nrhj;Jf; njhif njhif 

Kjy;    epyk; 80000  

Re;jh; 68000  $:- kjpg;Ng 11000 91000 

tpNtf; 52000 120000 ruf;fpUg;G 20000  

ghz;b 
epi 

 16000 f:- Fiwg;G 2000 18000 

fldPe;Nj  14000 fldhspfs; 30000  

   f:- Fiwg;G 3000 27000 

   tq;fp nuhf  14000 

  150000   150000 

45.m. Rjh epWkj;jpd; Fwpg;Ngl;Lg; gjpTfs; 
tptuk; gw;W tuT 

tq;fp f/F                   g 420000  

  Neh;ik gq;F tpz;zg;g f/F  420000 

Neh;ik gq;F tpz;zg;g f/F     g 300000  

  Neh;ikg; gq;F Kjy; f/F  300000 

Neh;ik gq;F tpz;zg;g f/F     g 15000  

  tq;fp f/F  15000 

gq;F tpz;zg;g f/F           g 105000  

  Neh;ikg; gq;F xJf;fPL f/F  105000 

Neh;ikg; gq;F xJf;fPL f/F     g              400000  

   Neh;ikg; gq;F Kjy; f/F  400000 

tq;fp f/F                   g 295000  

  Neh;ikg; gq;F xJf;fPl;L f/F  295000 
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45. M. 
mbg;gil 

,ul;ilg;gjpT 
Kiw 

KOik ngwh 
gjpNtLfs;  

eltbf;iff
is gjpT 
nra;jy; 

gw;W kw;Wk; 
tuT ,U 
jd;ikfSk; 
gjpag;gLk;. 

rpy 
eltbf;iffs; 
,U 
jd;ikfSk; 
gjpag;gLk;.  
rpy 
eltbf;iffs; 
gw;W my;yJ 
tuT kl;Lk; 
gjpag;gLk;. 

fzf;Ffs; Ms;rhh;> 
nrhj;J kw;Wk; 
ngausT 
fzf;Ffs; 
guhkhpf;fg;gLfp
wJ. 

Ms;rhh; kw;Wk; 
nuhf;f 
fzf;Ffs; 
kl;Lk; 
guhkhpf;fg;gLfp
wJ. 

,Ug;gha;T jahhpf;f 
KbAk; 

jahhpf;f 
KbahJ. 

,yhg – 
el;lk; 

rhpahd ,yhg 
el;lk; 
jahhpf;f 
KbAk; 

Jy;ypakhf 
jahhpf;f 
KbahJ. 

epjp epiy cz;ikahd 
epjpepiy 
fz;lwpa 
KbAk;. 

cz;ikahd 
epjpepiy 
fz;lwpa 
KbahJ. 

nghUe;Jk; midj;J 
epWtdq;fSf;
Fk; nghUe;Jk; 

rpW 
epWtdq;fSf;
F kl;Lk; 
nghUe;Jk;. 

ek;gfj; 
jd;ik 

mwptpay; 
g+h;tkhd 
fzf;fpay; 
Kiw 

mwptpay; 
jd;ikaw;w 
Kiw 

Vw;Gila 
jd;ik 

tUkhdthp 
mjpfhhpfSf;F 
Vw;GilaJ 

Vw;GilaJ 
,y;iy. 

 
46.m. ghiy tiuaW epWkj; Nghf;Fg; gFg;gha;T 

tptuk; ,yl;rj;jpy; Nghf;F rjtPjq; 
tU 1 tU 2 tU 3 tU 1 tU 2 tU 3 

gq;F %yjdk; ng       
gq;Fjhuh; epjp 250 275 300 100 110 120 
ePz;l fhyg; nghW 100 125 100 100 125 100 
elg;G nghWg;Gfs; 50 40 80 100 80 160 
nkhj;jk; 400 440 480 100 110 120 
nrhj;Jf;fs;       
epiyr; nrhj;Jfs; 300 360 390 100 120 130 
elg;Gr; nrhj;Jfs; 100 80 90 100 80 90 
nkhj;jk; 400 440 480 100 110 120 
46.M. nkhj;j yhg tpfpjk; =  nkhj;j yhgk; X100  
                tp.%.ng.tUtha;   

        =  4000    X 100    = 20% 
      20000        
nkhj;jyhgk; =tp.%.ng.tUtha; - tp.%.ng.mlf;f tpiy 
                     = 20000-16000 = 4000 

tp.%.ng.mlf;ftpiy=nfh.;nrruf;F+r.khw; +Neub nryT  
                         = 17000-1000+0 = 16000 
epfu yhg tpfpjk; =  t.K.c.epfu yhgk; X100  
     tp.%.ng.tUtha;   

        =  1500   X 100    = 7.5% 
      20000       
,af;f mlf;f tpiy tpfpjk; =  ,af;f m.tpiy X100  
              tp.%.ng.tUtha;   

        =  18400       X 100    = 92% 
      20000          
,af;f mlf;ftpiy=tp.%.ng.tUtha;+,af;f nryTfs;; 
= 16000+2400 = 18400 
 ,af;f yhg tpfpjk; =  ,af;f yhgk; X100  
        tp.%.ng.tUtha;   

        =  1600   X 100    = 8% 
      20000  
,af;fyhgk;=tp.%.ngw;wtUtha;; - ,af;f mlf;f tpiy 
= 20000 – 18400 = 1600 

47.m. jUz; tiuaW epWkj;jpd; tiuaW epWkk; 
tptuk; 16-17 17-18 $(+)F(-) r + 

- 

tpw;gid %yk; ng.tU 200000 250000 +50000 +25 
$l;:-,ju tUkhdq;fs; 50000 40000 -10000 -20 
nkhj;j tUkhdk; 250000 290000 +40000 +16 
fop:- nryTfs; 150000 120000 -30000 -20 
thpf;F Kd;dh; ,yhgk; 100000 170000 +70000 +70 
47.M. fzpdpkaf; fzf;fpay; Kiwapd; 
gad;ghLfspd; VNjDk; Ie;jpid tpsf;fTk;. 
fzf;NfLfis guhkhpj;jy;:- fzpdpkaf; 
fzf;fpay; Kiwapy; fzf;NfLfs; vspjhf 
guhkhpj;J> jfty;fis tpiuthf ngwyhk;. 
rk;gsg;gl;bay; jahhpj;jy;:- gzpahsh;fSf;F 
nfhLf;f Ntz;ba rk;gsg;gl;bais jahhpf;f 
cjTfpwJ. 
mwpf;if cUthf;Fjy;:-  ,J gy;NtW 
tof;fkhd mwpf;iffis cUthf;f cjtp 
GhpfpwJ. juT mDg;Gjy; kw;Wk; ngWjy;> thp 
tpjpg;G> ruf;fpUg;G Nkyhz;ik. 
ruf;fpUg;G Nkyhz;ik: fzpdpkaf; fzf;fpay; 
Kiw jpwk;gl;l ruf;fpUg;G Nkyhz;ikf;F 
toptif nra;fpwJ. Ntfkhf efUk;> 
nkJthf efUk; kw;Wk; tof;nfhope;j 
ruf;fpUg;ig fz;lwpayhk;. ruf;fpUg;G> 
ruf;fpUg;G msTfs; Nghd;wtw;wpd; 
Nkk;gLj;jg;gl;l jfty;fis clDf;Fld; 
vLf;fyhk;. 
juT mDg;Gjy;/ngWjy;: fzf;fpay; juT 
kw;Wk; jfty;fis epWtdj;jpd; cs;NsNah 
my;yJ epWtdj;jpw;F ntspNaNth cs;s 
NtW xU gaduplk; ,Ue;J mDg;gyhk; 
my;yJ ngwyhk;. 
tuptpjpg;G: fzpdpkaf; fzf;fpay; Kiw 
gy;NtW tupfis fzf;fPL nra;aTk; mij 
gpbj;jk; nra;J murhq;f fzf;fpy; 
nrYj;Jtjw;Fk; cjtp GupfpwJ 
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